ML KEH A — B FER PR A A WA

25 FEMEHEA #tB B H n
ABRAEBHT "O, BT Tx

o T

X X

AR

|

/L8

R

ko ok *1%&2&%&%4&_114/?%:\_ ’ §ﬁ|12:;§%-5+/7]\
1.0 &) ARz TR (BpRogfie 2 faybifh):
g .\!Lrg(x2+x)=6 il 2R

2.(10 %, &/ A5 o) RKT H &4k {E:

X

3—4
. X —
(O dim 275
—l" l —_ Y 472 9 Ak g
@ P g gk e sk
x=l |x~ll+x—-l

3.(15 ) KK f(0)=15-x"+4 Z
(1) tagtmEmR s (R0 59,
(2) %@ (&85 %9)
4. (10 4, F 865 ) REATRE BRI

1

(1) f(x, }’)_—'\/-—2—:;2—1
X
Oz oz

(2) % z=x+fw) H u=xy, K x&"’é}

£ b N _a_z_f_ Qi.f:.
RAGR R St %

5 (10 4) RASEB [ o b2 A, CRARA RS E B S EREH A RE)

0

6. (10 #) Ak foo= [l @, KBS

0

n

n x

iy B §e B

nn

7(m%)ﬁ$k&§ﬁﬁi;
8iw%)ﬁﬁiﬁﬁzE&EE%K'ﬁi%éé&Mmﬁiﬁﬁk@ﬁ?

0.(154) 4k S BRI HM dy=v xry-4=0 Ky=-1 AEAHER"
R H(zxzy—x+3)dxdy Z {4

s




